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Find the ratio of boys when the ratio of all students is 1. Find the price of the following item.
av D bA D av D bA D
15 B i /4 15 B il &
EhoL KA tr L 7‘ EhoL Ch Lr L 0y i XA Y e o Zh by
OB+ 3N, &+ 2 OBF4 AN, ZTF 1A @® ﬂifﬂﬁ5000|]§0)4%' O EAi 2000 [ D 8 &
3 boys, 2 girls
0.6, 60 %, o 5000 X 0.4
Zh
%35 = 2000 (®)
Eho L A A Eho L choLxL A
@BT3A, KTTA  |@HT4L, k16 : S : S
P e @ Al 4000 [0 7 54 |@ il 4000 [ 0 2% 55y
g —0:3,30 %, 3%l
4000 X 0.75
3+ 10 .
T WA IZh Th Lo Lrole v ‘oé? bl BAICALEI L = 3000 (FQ)
2. EE 60 ADOEHD WPWRD E O & &, TN R H
L TWA Dy, oo % b o oon Z b o
How many people are on board a train with a capacity of 60 people @ ﬂiﬁﬁ 2000 4 7 65 % @ ﬂiﬁﬁ 6000 [ 7 20%
when the occupancy rate is the following value?
v En bA T 2000 %X 0.65
15 B il &
=4 4N xh
D 1.5 1% O 2 1% = 7300 (W)
60 x 7.5 = 90 (X) " Y - g
@ ﬂifﬂﬁ6000|]§@? @ ﬂifﬂﬁSOOOH@ 4
g 1 "o 6000 X%
@ — 1% @ — 1%
3 4 Zh
= 4000 (")
60 x ——= 40 (%)
3 % 6000 x 2 = 3
. . Tn oM, Zh by v i xh by v
AEB0x2+ 3 . ® Al 5000 [0 4 #15]% |® i 2000 [ 0 2% 5] %
y y
@ 3%l @ 5 %Hl
5000 x 0.4
60 x 0.3 = 78 (X) — 2000
5000— 2000
@ 40 % @ 300% .
; = 3000 (")
4 . i A
60 X — o= = 24 (X)
3 5000 x 0.6
2% 60 x 40 +~ 100 < %A ™ < P X v
T ® JEfTi 8000 1 7 25 %3 &|® 7Effi 1000 5 D 40%5|
[2) [2) I Bl U]
3. ko kﬁ%@#&ﬁa\(@ﬁ) Bk k.
@‘ e Coe £000 % 0.25
RAE1H 5 gl FH2E LU,
Find the amount of sugar in the following drink. = 2000
av D bA D
151 RH il §000— 2000
Wb xo N
O AFR—YHE 500g (O =—7 500¢g = 4000 (7‘];4”)
Ly & Ly &
BEIE 4.6 % BEJE 10.8 %
2 8000 x 0.75
4.6 Tn o, Z b Tn o Zh
500 x—2—= 23 (g) @ A 3000 10 20 % off |@ i i 9000 [ D 30 % off
3% 500 x 4.6 = 100 3000 x 0.2
hy r<be
@ #k % 500¢g @ ¥4y bha—7500¢ =600
Ly & Ly &
PE B 0.0 % ﬁf” 0.3 % 3000 — 600
0.0 = 2400 (&)
500 x— 7 0 (g)
% 500 X 0.0 = 100 300008
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Find the number of boys in a class of 20. Find the price of the following item.
av D bAED av D LA ED
15 B il & 15 B il &
EhoL PR 3 fszu L bop g 7 XA Y Tn o, xh Y
O BroEsed — O BroHEs — @ i 4000 10> 5 % @ & i 2000 H > 7 E
ratio of boys 5 4
ik
20 x—=—— 12 &Y £000 x 0.5
5 XA
= 2000 (")
Eh VR Eh L nY B
@ FBrofla 40 % @ FHroEsa 60 %
ratio of boys », % h by » Xh by &
v . @ &4l 8000 110> 7% 5 4 |@ it i 8000 [ o> 2 #l 5 4y
20 X 00 & (A)
§000 % 0.75
Eho L VR ey Eh L nY B ey = 2 h
® BroEs 4% 54 |© BFoEHE 6% 5% = 4000 (®)
ik
20 X 0.45="9 (A) T 2 T Zh
® EAf 2000 [ D 75 % ® EAfi 2000 9 D 25%
T A KA ThLle AT Lr)Le 2000 x0.75
2. EH B0 NDERICKDOAMM T LTS L X,
LEoLens bl —
T R R kL 7500 (@)
Find the occupancy rate when the following people are
on board a train with a capacity of 80 people. . T 2 . o 3
v EY bA @ Efﬂﬁ 9000 M & —/— @ Efﬂﬁ 4000 @ —
Bl & [l 3 4
ik A
® 120 A @ 160 A 2000 x%
x A
—/;00 = 120470=1.5 = 6000 (%)

2% 9000 x 2 + 3

by
750 % , 75%]

Zh Y Zh v »

® FEff 5000 0 383 = |® i 2000 [0 4% 3] &

IZh IZh

@ 20 A ©® 60 A 5000 % 0.3
0 =7500
0 ~20+50=0.25
5000—7500

25 %, 2855 "
»AE = 3500 (®)

2% o k0 k) & bk 2% 5000 X 0.7
3. ROMAHYDREEE &R L < P 2 A o <o XA o
Find the sugar content in the following drinks. ® EAf 4000 [ D 25 %7 Z|©® & i 9000 [ D 60 % 5| &
v bA WD
L — i 4000 x 0.25
O AR —=2E 500 g O v=2—A500g¢g _
L9 RA aozpzu =7000
PESr 25 g PE5y 50 g
4000— 7000
25 5 .
500~ 700 008 = 3000 (¥)
5 %, 5/7751 2 4000 x 0.75

T H» Zh T » Zh
@ EAfh 3000 H ® 10 % off |@ 7EAfh 800 FH @ 20 % off

@ ¥wv.z2—7 500g |@ v—nrrk500g¢g

2:9/5’/1/ 55/3/,6 3000 X 0./
WE5r 05 g 4y 0 — 300
0.5 0.7

_ —0. 3000 —300
500 700~ 0-007

Zh
o = 2700

0. %, 12 (7)

#3000 x 0.9
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Find the number of girls in a class of 30.

v

il i

b AN
il

L xtL b b 1 CxrtL by b 1
© Lyofls —— © LToHs

ratio of girls 3

7 A
e 6 (A)

% 30x1+5
Ll byab
@ ZF oA 60 %
ratio of girls
60
700

2% 30 X 60=-100

30 X

HNe
S

i
ope

%o

80 %

\Zh
30 % =78 (AN)

Th Lo Crolx o ekl RATALEI LS

2. EH 90 ADEHED ERROME 0L x, (A R
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How many people are on board a train with a capacity of 90 people
when the occupancy rate is the following value?
ey bAED
15 B il &
@ 120 % @® 160 %
A
90 x 7.2 =708 (A)
4 5
@ — 1 @ o 15
90 x %: 72 (L)
K90x4 +5
Y Y
@ 3%l @ 4%
90 x 0.3 = 27 ()
Ho Ly SN @éﬁ
3. /k@ﬁkﬁ%@#ﬁﬁa\(@ﬁ*‘) Bk k.
T LA o
PPN = EI 5 gU\TZ’P‘:’?i LWy,
Find the amount of sugar in the following drink.
ey bAED
15 B il &
O #7nrrEry 500g |O =2—7 500¢g
Ly & Ly &
BEIE 4.6 % BEJE 10.8 %
4.6
X
500 700
= 23 (g)
hy r<be
@ #% 7& 500¢g @ ¥4y Fa—7500g
Ly & Ly &
HEFE 0.0 % B P 0.3 %
0.0
X
500 700
=0 (g)
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Find the price of the following item.
PO A b
151 #E F'ﬂ
Ty H hh Zh hh
@O EAfh 4000 P% D 5 El @ Tfﬁﬁ 2000 4 @ 7 &
4000 X 0.5
= 2000 (%)
T » Zh by EN T » Zh by 5
@ 7Efm 8000 M 7%# 543 |@ FE M 8000 [ @ 2 %#| 5 47
£000 X 0.75
= 6000 (%)
TV » Zh TV » Zh
@ & 3000 [ ® 35 % ® & 3000 [ D 45%
3000 x 0.35
— 1050 (#)
"E.L_: n Zh 5 "E.L_: n Zh 4
@ m!ﬂmooomw? @ Mﬂﬁ%oolﬂ%@?
5
X_
9000 .
= 7500 (%)
T » Zh by W TV » Zh b
® 7Efl 6000 [ » 3EF 5= |® EA 7000 [ D 4 F 5| =
6000 %X 0.3
=7800
6000—7800

4200 (%)

T Al

® JEffh 8000 H @ 25 %%l =
£000 X 0.25
=2000

§000—2000

6000 ()

T »

® &1l 6000 P% D 15 %%l =

@ 5Effi 50000 [0 20 % off
50000 x 0.2
=70000
50000—170000

20000 (#)

T » Zh
@ JEff 80000 M @ 30 % off
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Find the ratio of boys when the ratio of all students is 1 Find the number of girls in a class of 24
v En bAED v En LA ED
15 B il & 15 B il &
Eh oL iKh  Lx L 0D Eh oL A Lr L bk LrlL  bYan Lokl Py B 1
OEF4AN, BF1IA OB 3N, L2 O & ¥ OEIE O &F OEIE
4 boys, 1 girl ratio of girls 3
/ Zh
%:0.5’ , 0 % 24 X ;= 4 (A)
X 4 +5 % 24x1+6
Cx IZh Eh L Zh Cr L IZh b b txL by b
@BF2Ah, ki8A @%F6 AN, LT4 @ LTOEHE 50 % @ LkroHsaE 25 %
2 boys, 8 girls ratio of girls
) . 50 ik
[ — . X—:
70 0.2 , 20 % 24 700 72 (A)
2 +10 % 24 x 50100
T WA Zh Th L= ek L:/uf/i ‘1:151,»@ TV WA Zh . Croleho ‘oé? bz RAhZAhLEI LR
2. FE 120 N\OBEBHICRO NS FHLTWVWD L X, 5. £H 30 ADNZD R HRPIRO fE O & X, fif X3 H
Lrilebn  b&
F R LR L LTWah,
Find the occupancy rate when the following people are How many people are on board a bus with a capacity of 30 people
on board a train with a capacity of 120 people when the occupancy rate is the following value?
e bAED v En LA ED
151 B i 74 151 B il &
Zh Zh v v
® 90 A ® 30 A @ 0.9 % O 0.2 %
Y
0 _ 3 .., 30 x 0.9 = 27 (X)
720 4 T
2 3
@ —5 T @ — 1
0.75 5 y
30 x — = 20 (AV
by & 3
TEI5H , 75 %
¥ 30x2+ 3
o o Y Y
@6}\ @24J\ @2%” @3%”
A
5 ; 30 x0.2 = 6 ()
720 20 T4
@ 40 % @ 70 %
= 0.05 40
A
5 30 X = 72 (X)
549, 5% 700
% 30 x 0.4
oF » Lo ky ¥ b o¥ » L0 kYKL, & kD b
3. ROKHMOREEZ R &, 6. Yk@ﬁkﬁ%@ﬂ%%(@ﬂ%) RS T
Find the sugar content in the following drinks LA v 0%
—— — RAE1H 5l FAZE L,
151 %E i3] %E Find the amount of sugar in the following drink
éJA/VL ARV f':JJJV éi N v En HAED
© 7L W B 500 g @ BRI (o) 500 g 151 [t
2:9/33/1/ 9 BA VAD XS
iy 30 g PESy 40 g O AFR—UE 500g |(© =2—7 500¢g
R R
30 6 B 1 4.6 % BEE 10.8 %
500 ~ 700 00 »
B 500 x— 5 23 (g)
69 , 6 %
% 30 + 500 = 6 + 100 .
b 2% 500 x 4.6 — 100
— gL 7 X HILE A PENETS ; 5
@ 7wk 500 R A P00 g @ k% 350g @ ¥ 4=y ha—7500g
e AN e AN Ly oy R
5 0g oy de B £ 0.0 % B 12 0.3 %
0 0
= 0 0.0
x _
500 700 350 x— === 0 (9)
) &
0z , 04, 0%
% 0 + 500 = 0 =+ 100 2% 350 X 0.0 = 100
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Find the ratio of girls when the ratio of all students is 1.
I HAED
15 B il &
EhoL iKh  Lx L 0D Eh oL A Lr L &ED
OHEF4AN, &KF1 @77%3}\, + 2
4 boys, 1 girl
=02, 20 %
X 1+5=2=+10
KA Lr L k EhoL A Lr L &ED
@F 9N, & @FKF8AN, LF2
9 boys, lglrl
L‘0/ 70 %
70 . ’
¥ 1-+10
TV VA 2 A Ch $5 LxroLe
2. TR 24 ND~A 7 1 N2} /k@}\i}ﬁi)) % EL’CU\%)
Lrioles v 99z
- Eﬁ’i’:k&bi Xﬁ?ﬁi&i?)ﬁ?if‘
Find the occupancy rate when the following people are
on board a microbus with a capacity of 24 people.
e bA WD
151 B i 74
ik ik
@ 8 A @ 16 A
& 7 .
2 g T
=0.333 "
2 oA
3§'J3/\3@ , 33.3 %
%8 +24=1-+3
ik A
@ 6 A @ 18 A
6 _ 1 .
2~y T
=0.25
by &
22154, 25 %
X6+24=1+4

o¥ » [N b
3. RORHBMOHEE 2K D I,
Find the sugar content in the following drinks.
nwn HA D
i il &
N R
O AR—=U8E 200g |O ALY ¥a—RA500¢
EY Rk L9 Rh
By 8 BESy 40 g
5y
200 — 700 0%
&
Y-, 4 %

% 8 +200 = 4 100

@ tr 23— 500¢g
2:9/33/1/
PEr 0.5 g
0.5 0./
500 700 0-007
U9
B, 0.0 %

% 0.5 +500 = 0.1 +100

b
@ v—n % 350¢g
L9 Bh

B> 0g

4.
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Find the number of boys in a class of 12.
nwn 7wy HAEWD
i il &
Eh oL by b 5 ff/u L by H 9
OErFoEE — O BroRlse
ratio of boys 3
A
12 % g = 70 (A)
¥ 12x5 <6
Eh L nY B Eh L Y bl
@FFOEE 25% @ BroEsa 15 %
ratio of boys
25 A
X — =
/2 700 3 (A)
% 12 x 25 =100

T le/’u Zh Th L= Croleho ek b RAhZAhLEI LR
5. FH 90 ADEED F HEBKD E O Lx, (AR f
L TWa D,
Find the occupancy rate when the following people are
on board a train with a capacity of 90 people.
o fEn bA WD
151 #E3 i 74
v [E4N
O 1.5f% O 1.2 1%
90 x 7.5 = 735 (X)
4 3
@ 5 f @ 5
4 12 h
0 x—== 72 (£)
X 90 x 4=5
ey Y
@ 3# @ 4%
90 x 0.3 = 27 ()
@ 40 % @ 70 %
40 i
X f—
70 x— o> 36 ()
2% 90 x 40100
L0 k5 RA L5 vz
6. &@ﬁkﬁ%@*ﬂé%(@ﬂ%‘) AR L,

H L v

At 1H 5gl FASE L,

Find the amount of sugar in the following drink.

nwn

il

HA N

[ &

O Ya—RA(zrr) 400 g
Ly 0k
BE 9 %

9 _
g T e

400 %

2% 400 X 9100

O IRV —K500¢g
&y L
FEEE 11 %

5+
5

@

\«(
=

7 350 ¢
0.0 %

0.0
700

n:f -
P

350 %

= 0 (g)

2% 350 x 0.0+—100

=
o

g2 — bk — 350 ¢g
0.7 %

=ToE
R e
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Find the ratio of boys when the ratio of all students is 1. Find the number of girls in a class of 20
v En bA D v En LA ED
15 B il 15 B i &4
Eh oL Th Lr L ik EhoL A Lx L s Lr L by b 1 Lr L Py b 1
OHFTAN, ZF3AN @77%8}\, + 2 Okt+oHEE — O ZFoHE ——
7 boys, 3 girls ratio of girls 5 10
/ Zh
X
L:0.7 , 70 % 20 5 A
70
X 7+10 % 20x1+5
Eh L iKh  Lr L k Eh L st Lr L <A nY B Lr L Y bl
@%F3AN, & @%B 72N, 16 @k ToHE 15% @ ZroHla 25 %
3 boys, 1 glrl ratio of girls
3 20 x = 3 ()
Y =075, 75 % 700
X34 % 20 x 15 +100
T WA Zh Th L= Zh ¥ CroLx TV WA Zh . Croleho ekd b RAhZAhLEI LR
2. TH 120 A\DO&E &@A%xﬂ%zﬁbfmék% 5. 8 30 AD/NAD EARROE O Lx, AR
LriosLeho b w525 FH U 13
B’ HERLRD L, Xﬁfﬁi&%?ﬁfﬁif L TWaDD,
Find the occupancy rate when the following people are Find the occupancy rate when the following people are
on board a train with a capacity of 120 people. on board a bus with a capacity of 30 people.
e bA RN e LA ED
151 B i 74 151 B il &
Zh Zh v v
® 30 A ® 90 A O 0.8 % O 0.2 %
A
- S 30 x 0.8 =24 (A)
720 4
by & ey Y
=0.25 2859 , 25% @ 4% @ 5%l
ik A A
@ 150 A @ 132 A 30 x 0.4 = 72 (%)
750 5 - -
= —— =5y 3w 5
720 4 ®@ ——f& @ —f&
5 6
vy & 3 A
=7.25 723|545 , 125% 30 x——= 12 (X))
ik A
@ 40 A @ 80 A % 30x 3+ 5
0 0
W _ T @ 20 % @ 10 %
720 3 30 x 20 4 (»A/v)
by & v A /00
0.333, 3215432, 33.3% . ]
% 30 x 20100
nADES k5 ¥ b R néi
3. KO B OB &R 6. Kotk ﬂm}%(wﬁ) i xRk X,
Find the sugar content in the following drinks. LA o
— — RAE1H 5l FAZE L,
151 %E i3] %E Find the amount of sugar in the following drink.
v bA WD
O vE» 500¢g O 7 A 500¢g W?ﬁ i &4
Y Rk kagazu b
BE5y 70 g ey 32 g D # 747‘ 500 g O #& 500 g
) R
0 _ I, B 3.4 % FEEE 9.5 %
500 — 700
3.4
by & 500 X = 77 (g
181445, 74 % 700 ()
>:<70+500:/4 ~-100 % 500 x 3.4 =+ 100
b
@iéxbl/%/ 500g |@® HU = 350¢g @ /X142 500¢g @ VU= 500¢g
Ly R Ly Bh Lo L Ly ¥
By 3.5 g By 2.1 g B 1 0.6 % B 1 0.6 %
3.5 0.7
=0.007 0.6
) —20
50(3 700 500 x— o 3 (g)
v A
TR, 0.7 %
% 3.5--500 = (0.7-+100 % 500 x 0.6 + 100
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Calculate the following by hand.
nw e HAEn
1) jE 2
@ 4000 x 0.8 @ 2000 x 0.7
= 3200
BERGU RN
X o 08 DX
fffffffffffff 3121010000 | Lo
@ 6000 x 0.3 @ 7000 x 0.4
= 7800
,,,,,,,,,,,,, 6:0:0:0
X Coor 03 PX
,,,,,,,,,,,, pieloioioi | b bbb
@ 4000 x 0.65 @ 6000 x 0.75
= 2600
”””””””” glotoiod |0 b
XL b L 06 )X
21010010 |
204000000
420600100000
@ 4000 x 0.35 @ 8000 x 0.25
= 7400
,,,,,,,,,,,,, 41000500 | b
Xi o 043 X
,,,,,,,,, 2100000500 | d o
712100104
IR RN U R O T N U N
5 4
® 3000 x — ® 6000 x —
6 5
=3000 X5 +6
=75000 +6
= 2500
25100
é) 7isioioto )
il 1
L300 |
310
7y

2% L) 0h R A
2. RO s OEEZFEE L,
Find the price of the following item.
e En b
i ]

T Al

@ EAffh 4000 H > 8 %J

Zh

@ Mﬂﬁ 2000 M ® 7¥IJ

£000 X 0.8
= 3200 (W)

@ ftéfiﬁ 4000ﬁ@ 6$?J 5%\ @ fcéfiﬁ 6000ﬁ@ 7$IJ 5743 4
#£000 X 0.65
= 2600 (")

@ 71l 4000 [ 35 % @ & i 8000 [1] © 25%
£000 % 0.35
= 7400 (%)

@ %fiﬁ 3000?!5"@% @ %{% 6000%"@%
3000 x%

= 2500 (')
% 3000 X 5+6

T »

7EAfi 6000 P% D 3 %J%l =

6000 %X 0.3
=7800

6000 — 7800
2l
= 4200 (®)

2 6000 x 0.7

T »

7E ffi 7000 P% ) 4*”%! =

T »

©® EAfh 4000 P% » 35 %%l =

4000 x 0.35
=7400

4000— 7400
= 2600 (®)

9% 4000 x 0.65

T »

® &1l 8000 P% D 25 %%l =

T H» Zh
@ EAfh 50000 H @ 10 % off

50000 x 0.7
=5000
50000—5000

= 45000 (%)

2 50000 %X 0.9

T » Zh
@ JEff 50000 H D 20 % off
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Calculate the following by hand.
nw e HAEn
1) jE F
@ 9000 x 0.7 @ 3000 x 0.9
= 4300
o bdereleiod | i 4 bobod b
X Cor 07 LX !
,,,,,,,,,,,,, 6181010500 [ L4 i bbbt
@ 7000 x 0.2 @ 6000 x 0.3
= 7400
TR0 0O
X 0,20 CX
,,,,,,,,,,,, piioioder | b Db E b
® 6000 x 0.85 ® 6000 x 0.75
= 2600
I I N R R A I R R
x| L 0iEis
3101010101 |
4081000000 |
,,,,,,, 5171000050 | 4
@ 6000 x 0.15 @ 6000 x 0.25
= 900
,,,,,,,,,,,,, 6010300 | b h o
x ERIAYEEENINES
,,,,,,,,,,, 3105010500 | bbb oE
610100
RN 9001030005 | bbb
3 7
® 2000 X ® 4000 X~
=2000 X3 +4
=6000 +4
=7500
15010
4) 601000 )
2 ‘
200 \
1210
N

2% L) 0h R A
2. RO s OEEZFEE L,
Find the price of the following item.
e En b
i ]

T Al

@ EAfh 9000 H > 7 %J

7000 X 0.7

6300 ()

Zh

@ Mﬂﬁ 3000 14 & 9¥IJ

T » Zh by EN T » Zh /S%'
@ EAfh 6000 H D 8 E 54y |@ & Afh 6000 H D 7$IJ 5 %)
6000 X 0.85
= 5700 (W)
TV Zh T Zh
® Effh 6000 [ D 15 % ® & 6000 [ D 25%
6000 X 0.75
= 900 (%)
TW Zh 3 TW Zh 7
@ E!ﬂMoooP}@T @ /”fﬁﬂooolﬂ%@?
3
X_
2000 /

7500 (%)
% 2000 X 3+—4

T »

EAfi 7000 P% D 2 %J%l =

7000 X 0.2
=7400

7000—7400
Z
5400 (")

2 7000 x 0.8

T »

7E ffi 6000 P% ) 3*”%! =

T »

® EAfh 6000 P% D 15 %%l =

6000 X 0.75
=900
6000—900

5700 (%)

2% 6000 x 0.85

T »

® &1l 6000 P% D 25 %%l =

T H» Zh
@ EAfh 40000 FH & 20 % off

40000 X 0.2
=&000
£0000—¢6000

32000 (#)

2% 40000 X 0.8

T » Zh
@ JEff 30000 H D 20 % off
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Calculate the following by hand.
nw e HAEn
1) jE 2
@ 17000 x 0.8 @ 6000 x 0.9
= 5600
BRI RN
X o008 LX !
,,,,,,,,,,,,, 5161000300 |t b bbb
@ 6000 x 0.2 @ 17000 x 0.3
= 7200
b6 000
X 0,20 CX
,,,,,,,,,,,, ri2ioioier | b bbb
® 8000 x 0.65 ® 5000 x 0.75
= 5200
I N R R o A R
XL b L 06 )X
4001010 |
4181010107
512000000000
@ 8000 x 0.15 @ 4000 x 0.25
= 7200
,,,,,,,,,,,,, FLOG0G0 |
RINNERERLAVELE N LS
,,,,,,,,, 4100000 |
L 181030507
R A AN T U U O U U e
4 5
® 6000 X~ ® 4000 X g~
=6000 X 4 =5
= 24000 <5
= 4800
4isioio
5) 20400000 )
210 1
: N/
40
A

2% L) 0h R A
2. RO s OEEZFEE L,
Find the price of the following item.
e En b
i ]

T Al

@ EAffh 7000 H > 8 %J

7000 X 0.§

5600 ()

Zh

@ Mﬂﬁ 6000 M ® 9¥IJ

T » Zh by EN T » Zh /S%'
@ EAfh 8000 H @ 6 El 54y |@ & Afh 5000 H 7$IJ 5 %)
£000 X 0.65
= 5200 (%)
TV Zh T Zh
® & 8000 [ » 15 % ® & 4000 [ D 25%
£000 X 0.75
= 7200 (%)
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